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PART - III
Qupfiwer / PHYSICS

( @8 whmib spiifley auyfl / Tamil & English Version |

srar Siane| : 3.00 wenfl Grpb | [ QundsoFutuarsedr @ 70
Time Allowed : 3.00 Hours | [Maximum Marks ; 70

Ableyenrsa : (1) simmss slarssEpn sfurst uBlandl edragr eaaruganard
sfiurrdms Cardrarayn. sFsouSeld geapll@mller, Saps
sangnapflounranfliin e engwirgd Sgfellsseaib,

(2) Beow mdaagy smUY \adblee wlBHGL ausaushEw
=g sEang HasiEd vldmuBss Cauam@b. ULRsT wmTUsDE
ol Liemmdlay Lnen(BaSab

Instructions : (1] Check the questibn paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

{2) Use Blue of Black ink to write and underline and pencil to draw
diagrams,

LSl - 1/ PART - I

@olly : (i) smengs) shlarTss@aEi eflen_wefl&sayb, 18x1=15
[if}~ Qarpastufeaa wrmp deasaid Baab ghyeLu damus
Caiptsfsms eRUlprean e leamanuyb Coigs aupsayb.
Note : {ij Answer all the questions.

[ii} Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

| flmliys / Turn over

DREAM REALITY
NEET COACHING CENTRE | TUTORIAL | VIDHYA MANDIR SCHOOL



6617 2

e i - ik il

1. A &mmﬁmm G memri GTErEL_Tmen '-DDJ!QJI-“ jg g{mmlﬁmm AaraEr «GUTLL men
fluoa §C7 pdp@a () Gupp Gmonddr SmmBeriisdr A, HHG A,
@enuflaman Glgm iy : i

1 =

(=) 2 * (<24) by = &, (@) Ap = A2 (F) Ap x Vhe

The wavelength A, of an electron and A p of a photon of same energy E are relaiéq
by : ;

T
H

1 V
(a) *p* T (b) A, = A (€) Ay A7 (d) =,

2.  @rean( CurarmiBsaien ure| méssd geapsdsranr IO Canangdld smibgdren
Hlepauliey, 1 Qedley QaranL sareflmaey 200 aaflgpsd Gurarmniger K
dilupdflenmg. Breirreug Gurarmingd Fmps SweMGumb pailildn Qedley ;

il P TRRp gy vy eeepre

(1) 31 () ! )N (m) 3! |

Two polaroids are kept with their fransmission axes inclined at 30°, Unpolarised
light of intensity | falls on the first ‘wolaroid. Intensity of light emerging from the
second polaroid ¢

1 1
{a) 5 I (Lo} :l ic)

| L

d
1
@ 3

3.  denangs sde gaflan srfsigeida aar wdoy 3x107° T aafld, sigen
Wl eugdlen Andliiy ereiem ?

(&)800 vin~! (=) 100 Vm~! (@) 900 Vm~! (&) 300 Vm~!

If the magnitude of the magnetic field is 3x 1070 T, then the magnitude of the
electric field for a electromagnetic wave is :

{a) 600 Vm~! (b) 100 ¥m~1 {c) 900 Vm~! (dj 300 Vm~
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4. Gemeumib Wenmnfa e e HenGeariib 1.0 A aafld WangaL P -ullen wHiy

GTEITEE 7
an
o= 2.5 {1
DA
'P
(=) 3.502 (<z,) 1.5 02 (@) 4.511 (/) 2510
There is 8 current af 1.0 A in the circuit shown below. What 45 the fesistance of
BP?
310
1Y = %2.55‘1
— M
P
(a}] 3.511 b) L50 c) 4510 dy 2.50

5. @ SrTUE LﬂaﬁrﬁmLmrﬁEﬂuﬁﬁr HensenL wHliy (47 £4.7) kO erafldr sfed Gtb
Qumid Hpeanarurgdisn culens -
(2] BEIGT - \DERSET = S TIEha - Beuerarfl
(B4} DERFET - ViFEng - LEET - AL
(@) ubems.- BLTEss - BMUEHT - FIELD
(/) _(hEhast - 2SI - BATihe - Qeuaerl
A.cafbon resistor of (47 £4.7) kil 1s to be marke:d with rings of different colours for
its identification. The colour code sequence will be :
(aj Violet - Yellow - Orange - Silver
(b) Yellow - Green - Violet - Gold
{c) Green - Orange - Violet - Gold
(d) Yellow - Violet - Orange - Silver

| #miys / Tum over
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6.

eanL Tmen wignelle Eran_maug Sppiureguld EUkigh s et CGamem
& hBED :

() 2 (<21 b @ = m 7

In an hydrogen atom, the electron revolving in the second orbit, has angular
momentum

dh 7h h
{a) '; (b} h (c) ? (d] ;

W @riecd Gerey e, Garayserés @ooCu eden dsraea)
BowiistésiuGdpg. Soqda Cerayn Lol Ssab WniTod Gmas
Gauein BiGweafla, Gearaysenigh Henpign B G 2 drar Qgradsy (D) maeuara
Blimas Geausim(pun 7

D

(=) V2D (=) 2D @ 7 (%)

b | D

In Young's double-slit experiment, the slit se¢paration is doubled. To maintain the
same fringe spacing on the screen, the sefeen-ig-slit distance D must be changed

to

|2

(d]

o

(a] 2D (b) 2D (c)

Gevanrds [ WlenGaad gaiy V Benarpss Gapunliyd Q ayerey Hemam ib
Qaram. Wangadidaa/ Gollsdang. s (Heaian urlueTayh 5 HsEmaE
Blen Guiwimren Gl@menaraylh [E)(mHLDL RS TanTe) 156 s (7 6 &7 @ )y e THE Seray
wrmiLEE 7

(<21) Wlemanhss Gauun( (<) DNCoEESS e

(@) &by = igd () flengmar

A ‘parallel plate capacitor stores a charge Q at a voltage V, Suppose the area of the

parallel plate capacitor and distance between the plates are each
which is the quantity that will change ? doubled then

{a] Voltage (b) Capacitance
(c) Energy density {d] Charge
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10.

11.

12.

5 122956\ 6617

— A i 4 . a
vV =vi Genn SmeGeusis e Hamnhs e §0 wst s e ”Fmﬂmmﬁ'
Gevauaneoulic wrmSlens Seamgah +Y oFdla Honauila @y figsme By WIS
STHSULen @ mé @,
[=4) +Z Hensufld (<) -Y flevflce (@) -2 Hengulley  (m) —X Henzulle

o 4
An ﬂlﬂcwmﬁﬂlﬂliﬂ wave is propagating in a medium with velocity v = vi The
instantaneous nﬂﬂiuﬂting electrie field of this glectromagnetblc Wave 15 alang

+Y axis, then the direction of oscillating magnetic field of the clectromagnetc
wave will be along :

la) +Z direction (b ~Y direction (¢) -2 direction (d) —Xidirection

sthfldmibs eafldosa aar 2 Qarar. sanemryl U LagE & g gl
aflppdlog eaflé, srsfuwrar Quamn dlag CaransSen Ly -
{=31) 60° () 30° (@) 90" () 45°

For light incident from air on a slab of refractive intlex 2 the maximum possible
angle of refraction is :

(a) 607 (b} 307 e G (d) 45°

Qi enL_Guimg ein apgenano LLGTLITEN:
(51) S QuipP () =we Ssd
(&) (Semen(pSES Sreno@wen () Gugsd

The Zener diode is pamarily used as :
Rectifier

Amplifier

(a) Oscillator =]
(c) Voltage regulator (]

£ 05 i b dp=15t? - 50t + 250 erem
.o CE Sldh, G smEemp Gariiyaiw unue Py
il ¢ it Be Pl Cog NI Slemaflébs eflenswimeang) :

o_gmand)|. t=3s -

(el —40V (e24) =190V (8) 40V ——

The flux linked with a coil at any instant ¢ is given by dy=15t2-50t+250, The
induced emf at t=38 18

() —40V b) -190V () 40V e

[ #moys / Turmn over
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13.

14,

15.

Lwr snhslbunmEnds afbgssmd ;
(<my) Bl&me 5] metareatii (@) sgnflaflud (/) Eoby
An example of Diamagnetic material is

(a) Nickel ) Water (c} Aluminium  [(d} Iron

2@ Gauflmanies Adlanafdn efladstiu’ L ey @ Ceaaiufenwilig

GTEietT 7

(=) 0.3 eV (i) 0.7 eV (@) 0.9 ¢V (/) LIeV
What is value of Forbidden Energy gap for silicon at room tempefatare ?
(a) 0.3 oV (b 0.7 ¢V (c] 0.9 eV (@) W1 eV

CrrGunésafa sensd siblsdr B HaUnEsl) Liwsnuih o ComEds saenalsar ;
(<) glmibd Qeudrall o Cones seencuser

(=) euigeu Blenanay o Ganes saneusdr

(@) G uflorsr & Cansé saoausd

() grusin gmily o Gansd saansusser

The alloys used for musecle wires in(Robots are :

{a) Gold silver allovs

(b) Shapc memory alloys

[c) Two dimensional alloys

[d} Gold copper alloys

ugdl - 11 / PART - II

@iy : smauGligd spn danriserss deowalssan. eblenm erar 24 -Eg

SL_L_fons aflenweailSsaib. 6x2=12

Note - Answer any six questions. Cuestion No. 24 is Compulsory,

16.

17.

1l LJe0ID — EuEnTILI &6,
Define ‘electric ficld’.

Q-sryenilenil ereucury suenmuep GFlmumi 7
How will you define Q-factor 7
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18. ubllwr spry cSflaows sma.
State Ampere's Circuital Law.
19. eneumb Ggrallinghsrer srremgams cflandEs.

Explain the reason for the glittering of diamond.

20. @ G&EELE doasy agaomwlid Em ooasded Qefloisense
e Guuner eflflgin 36 : 1 aafld, Eosd@on Gm oasda dissamés
BlenL Guiuren elldlgn ereusuaray ?

The ratio of intensities of two waves in an interference pattern is 36 : 1. What is
the ratio of the amplitudes of the two interfering waves ?

21. g o Canssdenr goflflda CaefiCupn Supd aaums aamnuUDEsaD. g
DjEUENES H(IHE.

Define work function of a metal. (Giveits unit.

22, shfuss Qeudun® o Hasa) slgn eremprd edien ? g @ erenen ?

What is meant by dctivity or decay rate ? Give its unit.

. G (o ehe Smpdasrar WlansDn eueTLILLD QDTS

Draw the dircuit diagram of a full wave rectifier.

24, 20°C Gautufleande g s09F smefien WarzenL 3 N wHpD a=0.004/°C aafie,
100°C Qautiuflanauild sigan Wangen_enwus snemrs. =

If the resistance of coil is 3 0 at 20°C and «=0.004/°C then, determine _':its
resistance at 100°C. -

SR i R

A [ Siys / Turn over
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LSl - 111 / PART - III

(&miy sTemen Giignyin Snl cleriserss e weallssapd, eflanm arar 33 -85
&L muens sfenwaflEsay, fAEdein

Note :  Answer any six questions. Question No. 33 is Compulsory.

25. yerefl largadr geanflare giu@n fae Heaamuypsssdisna Caraamus

Si(hell&e.

Derive an expression for electrostatic potential due to a point charge.

26. dlissm Gen qpsd whpd Bremmb el menar s

State Kirchhoff's First and Second Bules.

27. snveuGantihil L eng, ubBlgra-sdiaunmy wrhmeumi adiems ofleufldseab,

Explain the conversion of galvanometer into an ammeter.

28. G(m H{REr LEiIﬂTLiﬂLﬁ LITLIE0LE LD 6 &6 FLpelLD, P LElEiTmﬂuJ.i{Er cflenFeniL
ETEUEUIT SNaTLaymd 7

How will vou induce an eml by changing the area enclosed by the epil ?

20. WgmenGanrui euflser erenpra eranen ? @fluefigidrer saflhismeas sam_fleadd
DyEnal reUsUTT £ SeySlemmen ?

What are Fraunhofer lines ? How are they useful in the identification of elements _
present in the Sun ? x4
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30.

31.

32.

33.

g —1224a54 | aBAT

SOuC (Beren Wénmmies Gran( mawlde o Gunsa | ||_§I,.=5||}rﬁf ﬂ.ns.'l.Lq.1|_|dr-::rra|rr|y
Eevamamiiug Herarer. Seman Ry anfitu umub (Slebanm i hanhs 0T ) (B0 .

The given cirenit has two ideal diodes connected as ghown in figure below,
Calculate the current flowing through the vesistanee Ky,

21

—— W

Ry
10V —= 0y Dy
Ri=>3n Ry=2D0

geflliuremg erenmrd eranen 7 gaflliLmang e fsm-si:TurrL'.ml._ GTpE <5i g ETem
geuGeunm wiluiPn crengd sLHAGDS aFLRSS S5,

What is optical path ? Write down the-eguation for optical path and mention what
each term represents.

gCaaub apanp gefiden sieneney silflaenar arpgis.

Write any three Laws of Photoelectric Effect.

W kg flenmujsirer 2'5151 U Gemeymih Gurg Qeuafluubit gubmena gl sarsdfs.

235

Calculate the amount of energy released in joules when 1 kg of “55U undergoes

fisgion reaction.

I ﬂ-ﬁfplﬂﬁlﬁ J'I T'Ll.l'ﬂ over
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Ul - IV / PART - IV
5x5=25

GOILY : sismengsy Coeralls@nawh cflonwiaflssayb.

Note

a4,

35.

46.

Answer all the guestions.

(i) (i) Beneiflemaiiuelien smgyh clSullemens snms.

fii)  sngub eflemssmb yellriiy dlesimn &eCuwnea Gaunurfgamens

FfL) .
S{E0E05)

() peflufien Geusgensé ser_flyh Juladuy (Fizeau) apenpeny silamsseyb.
(a) (i} State Coulomb's Law in electrostatics.

(11} State the differences between Coulomb force and ‘Gravitational force.

OR

(b} Describe the Fizeau's method to determine thé speed of light.

(B1) ens&Garm_gren Blwhigh wpermen flflaiis cileréssyh.
SIEAIE
() @ Hemellammed gpu@b|cialby efaareflanan eileufifs n -eug
Hmpwosslharen Hubsenaneu’ Bums.
(a) Discuss the working of Cyclotron in detail.
OR
(b) Discuss the diffraetion at single slit and obtain the condition for n'™ minimum.,

(<) @grim RLC shfle, Geagussiu’ L daanpss Caugumn whmb BenGanm i
Ben G & ater s & Caremgflparar soaum el s smellssayn,

SHEVE0G
(e yeraisigreflen e Guddlemen eileufisgd CLellsdr - Qginot Cangamansnw
gilsufsseaLb.
(a) / Derive an expression for phase angle between the applied voltage and eurrent
in a series RLC circuit.
' OR
(b) Describe Davisson-Germer experiment which demonstrated the waye nature

of the electrons.
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37, () Lﬂa':rrﬂmrr.'_._g,?g@ marordfls Gerdensamu ellaflss, sfdlmbs @0
S8 uTen i aulg sudengll Glums,
SHEVEVZ)
() Gum sigmiordiflenw Lweru @S eras_graflar n -sug sHmLILITenSUiles ST
hmh HesGasidharen Canmeaenu aipeilbsa)b.
(&)

Describe the microscopic model of current and obtain microscopic form’ of

Ohm's Law,
OR
tb}  Derive an expression for Radius and Velocity of an electrof in‘tife n'™ orbit
using Bohr atom model.
38. (=) (i) flan srhs senawsallen udTEmaTE e .

[ii) e &b gardler guyaw srhs o Ly@@per 2.5 whipgh glyew
\BlemellHdimen 2.25 arafilh sycuqpl ssfahgaliclausd aamamans srers.

SHEUE0E]
(&) Glgafleuren Wlensnp UL gL ergyrendldv i Aumsdliunss Qewduems
dlaufssan. edeld winoBaelbd swa wuyakisamer wumrs.
(@) (i) Write down the properties of electromagnetic waves.
(ii) The relative magnetie permeability of the medium is 2.5 and the relative

electrical permittivity of the mediym is 2.25, Compute the refractive
index of the medium,

oOR

(b} Describethe function of a transistor as an amplifier with the neat circuit
diagramgr~ Sketch the input and output waveforms. .

-alao-

DREAM REALITY
NEET COACHING CENTRE | TUTORIAL | VIDHYA MANDIR SCHOOL



